
(Pr.No.2122－Ａ)

同類項の計算 ２

解答編

Ⅰ．

①（＋２ x）＋（＋５ x）
＝２ x＋５ x＝７ x

②（－５ x）＋（＋３ x）
＝－５ x＋３ x＝－２ x

③（＋７ x）＋（－５ x）
＝７ x－５ x＝２ x

④（－２ x）－（＋６ x）
＝－２ x－６ x＝－８ x

⑤（＋３ x）－（＋２ x）
＝３ x－２ x＝ x

⑥（＋３ x）－（－５ x）
＝３ x＋５ x＝８ x

⑦（－４ x）－（＋２ x）
＝－４ x－２ x＝－６ x

⑧ ３ x－（－９ x）
＝３ x＋９ x＝１２ x

⑨ －７ x－（＋２ x）
＝－７ x－２ x＝－９ x

Ⅱ．

①（２ x－４）＋（３ x＋２）
＝２ x－４ ＋３ x＋２
＝５ x－２

②（５ x＋２）＋（x－５）
＝５ x＋２ ＋ x－５
＝６ x－３

③（x－９）＋（－２ x－４）
＝ x－９ －２ x－４
＝－ x－１３

④（y－３）＋（４ y＋３）
＝ y－３ ＋４ y＋３
＝５ y

⑤（４ x－５）－（６ x－８）
＝４ x－５ －６ x＋８
＝－２ x＋３

⑥（a－１）－（３ a＋２）
＝ a－１ －３ a－２
＝－２ a－３

⑦（６ b＋３）－（５ b－６）
＝６ b＋３ －５ b＋６
＝ b＋９

⑧（４ y－１）－（y－６）
＝４ y－１ － y＋６
＝３ y＋５

⑨ －(２ x＋１)＋(３ x＋２)
＝－２ x－１ ＋３ x＋２
＝ x＋１

⑩(－５ y－６)＋(－３ y＋９)
＝－５ y－６ －３ y＋９
＝－８ y＋３

⑪ ３ y＋（y－１）
＝３ y ＋ y－１
＝４ y－１

⑫ ２ x＋（－３ x＋ y）
＝２ x －３ x＋ y
＝－ x＋ y

⑬(４ a＋３ b)＋(２ a－５ b)
＝４ a＋３ b＋２ a－５ b
＝６ a－２ b

⑭(３ x＋４ y)－(５ x－２ y)
＝３ x＋４ y－５ x＋２ y
＝－２ x＋６ y

⑮(ー２ xー４ y)－(５ x－３ y)
＝－２ xー４ y－５ x＋３ y
＝－７ xー y

(Pr.No.2123－Ａ)

同類項の計算 ３

解答編

Ⅰ．

① ４（２ x＋１）
＝８ x＋４

② －２（３ x＋１）
＝－６ x－２

③ ２（２ y－５）
＝４ y－１０

④ －３（４ a－５）
＝－１２ a＋１５

⑤ （３ x－１）×（－２）
＝－６ x＋２

⑥ －３（－２ a－２）
＝６ a＋６

⑦ －８（２ x＋１）
＝－１６ x－８

⑧ ２（－３ y－９）
＝－６ y－１８

⑨（－５ x－４）×（－３）
＝１５ x＋１２

⑩ －５（２ a＋３）
＝－１０ a－１５

⑪ ７（－３ a－６ b）
＝－２１ a－４２ b

⑫ －６（３ y－６ a）
＝－１８ y＋３６ a

Ⅱ．

①２（３ y＋４）＋３（２ y＋１）
＝６ y＋８ ＋６ y＋３
＝１２ y＋１１

② ３（y＋２）＋５（２ y－４）
＝３ y＋６ ＋１０ y－２０
＝１３ y－１４

③ ３（y＋２）－２（２ y＋３）
＝３ y＋６ －４ y－６
＝－ y

④ ３（x－４）－５（x－６）
＝３ x－１２ －５ x＋３０
＝－２ x＋１８

⑤２（２ x＋ b）－３（x＋２ b）
＝ ４ x＋２ b －３ x－６ b
＝ x－４ b

⑥－４（２ a＋１）＋３（２－ a）
＝－８ a－４ ＋６－３ a
＝－１１ a＋２

⑦－５(－２ x－４）－５（x－４）
＝ １０ x＋２０ －５ x＋２０
＝ ５ x＋４０

⑧ ７（－ x＋１）－（６ x－６）
＝－７ x＋７ －６ x＋６
＝－１３ x＋１３

⑨ ２（２－ a）－３（３－ a）
＝ ４－２ a －９＋３ a
＝ a－５

⑩ ２（x＋３）－３（２ x－１）
＝２ x＋６ －６ x＋３
＝－４ x＋９

⑪ ２（－ x－５）－（３ x＋６）
＝－２ x－１０ －３ x－６
＝－５ x－１６

⑫ －（x－１）－３（x－１）
＝－ x＋１ －３ x＋３
＝－４ x＋４


